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Qn. All Questions are Compulsory Marks

No allocated
MULTIPLE CHOICE QUESTIONS 1 Mark Each

1 Globalisation is a process of slow integration or interconnection between countries. State | 1

whether true or false.
a) False b) True
Answer: Option (a)

2 Globalization will result by connecting countries s 1
a) Less competition among producers.

b) More competition among producers.

c) No change in competition among manufacturers.
Answer- Option (b)

3 The last two decades of globalization have seen rapid movement of - 1
a) Goods, services and people between countries.

b) Goods, services and investments between countries.

c) Goods, services, investments, technology and people between countries
d) Goods, investments and people between countries.

Answer : Option (c)

4 Factors that have enabled Globalisation are . 1
a)Technology b) Information and communication technology
c) Libralisation d) All of the above

Answer: Option (d) All of the above

5 Governments can use---------------- to increase or decrease (regulate) foreign trade and to 1
decide what kinds of goods and how much of each should come into the country.
a) trade barriers b) foreign investment c)foreign trade d)import

Answer: Option (a) trade barriers

Short Type Answer

6 What will happen if government of India put a tax on any item ? 3
Ans.-The following will be the consequences-

1.Buyers will have to pay higher price for the imported products which will include import
custom duty.

2. The imported product will not be as cheap as it is available in india

3.1t will reduce import of products.

7 How technology enabled Globalisation ? 3
Ans.- Rapid improvement in technology has been one major factor that has stimulated the
globalisation process.

For example — use of containers in transportation of goods has led to huge reduction in cost
and increase speed in reaching the market.

2.Now people can pass and receive information with a click of button.

8 Why did the government of India wish to remove barriers to foreign trade and foreign 3




investment starting around 1991?

Ans:The government decided that the time had come for Indian producers to compete with
producers

around the globe.

It felt that competition would improve the performance of producers within the country.
Power full International Organisations supported this decision.

Explain any three factors that have enabled globalisation.?

Ans: Three factors are -

1)Rapid improvement in Transportation Technology: This had made possible much faster
delivery

of goods across long distances at lower cost.

2)Development in Information and Communication technology: It has played a major role
in spreading out production of services across countries.

3)Liberalisation: Countries have removed many of the barriers to foreign trade and foreign
investments and then promoted globalisation.

Long Answer Type Questions

10.

How has information and communication technology increased the pace of globalisation?
Explain.

Ans. Information and communication technology increased the pace of globalisation.
Information and communication technology (IT) has played a major role in spreading out
production of services.

In recent times, technology in the areas of telecommunications, computers, Internet has
been changing rapidly.

Telecommunication facilities (tele- graph, telephone including mobile phones, fax) are used
to contact one another around the world, to access information instantly, and to
communicate from remote areas. This has been facilitated by satellite communication
devices.

Computers have now entered almost every field of activity. You might have also

ventured into the amazing world of internet, where you can obtain and share

information on almost anything we want to know. IT has created various new
opportunities.




